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For open circuit :

Zin(—1) = % = jZg tan(3f)

For short circuit :

;/:\/(R + JoL)G+ joC) =a+ jp
For example : R =100Q/m, L =80 nH/m, G = 1.6 S/m, and C =200 pF/m.

My questions:

Suppose | have a cable with length Lo.

(1) How can be find equation of Zin that with length N times of LO.

(2) Equation of Zin that with length of LO/N. (relation between Zin with LO and Zin with
L/ON)

(3) If from (2) define different RLGC for N parts of cable(1/N length of cable with
variable RLGC), how can be obtain Zin in toal length L. (it seems not adding together,
but may be we can first divide Zin to N parts)



